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Abstract A quadrature formula of Clenshaw—Curtis type for functions of the form
(1 —xz)k’% f(x) over the interval [—1,1] exhibits a curious phenomenon when applied
to certain analytic functions. As the number of points in the quadrature rule increases
the error may sometimes decay to zero in two distinct stages rather than in one depend-
ing on the value of A. In this paper we shall derive explicit and asymptotic error
formulae which describe this phenomenon.

Keywords Gegenbauer weight function - Clenshaw—Curtis quadrature -
Convergence rate - Lobatto-Chebyshev quadrature

Mathematics Subject Classification 65D32

1 Introduction

In [15] (see also [3,14]) it was seen that Clenshaw—Curtis quadrature [2] exhibits a
rather curious phenomenon when used to approximate integrals of the form

! 1
/l fo(x)dx,  f.(x) = , (1.1)
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where 7 is a complex number not in [—1,1], which is that the error does not decay to
zero evenly but does so in two distinct stages.

Recently [4] a quadrature rule based on the zeros of (1 — xz)T,;_ 1 (x), which can
be regarded as a generalization of Clenshaw—Curtis quadrature, was derived for the

Gegenbauer weight function (1 — x2))‘_% , where A > — % In particular it was shown
that if /™ ( f) denotes the integral

1
1<”<f)=/ (A= x*" 2 f(x)dx, *> —%, (1.2)
-1

then

1P =yP )+ EP ), (1.3)

where f(x) is a function analytic over some region of the complex plane containing the
interval [—1,1], w,ﬁ“( f) denotes the approximation to [/ M) f) and E,(,M (f) denotes
the error in that approximation.

A method for the evaluation of w,?‘) (f) was described in [4] and for the evaluation
of E,g)‘)( f) in [12], this latter method being similar to those methods used for the
evaluation of the error terms that arise in Gauss-Gegenbauer quadrature [8] or Gauss-
Jacobi quadrature [9], see also [7,10,11].

The question we shall address in this paper is: Does a similar phenomenon exist
for the quadrature rule in [4] as exists for Clenshaw—Curtis quadrature? In fact it will
be seen that when the function f(x) = f;(x) in (1.2) such a property does indeed
exist forA = 1, = 2p+ 1)/2, p = 0, 1, .... Unfortunately however, expression
(1.3) with f(x) = f;(x) does not lend itself to our needs and so in order to proceed
we shall begin by deriving a different expression for the error term using the Hermite
contour integral representation of the error in polynomial interpolation [6, p. 251].

2 Error formula
Theorem 2.1 Let f,(x) be defined by (1.1), then

P - 0™, @

) _
e = o S T @

> 2, Q2.1

where

1 21
fo’(z)=/ a xz) T e, g [-1 1. (22)
-1

— X
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Convergence properties of a quadrature formula 825

Proof Following [15, Theorem 1] and [6, p. 251] the pointwise error in the polynomial
interpolant p,—1(x) of f;(x) at the nodes {x; };f:l is given by

x—x1)...(x —xp) 1

de,
2mi c@C—=x1)...C=x)(& —x)z—20) ¢
(2.3)

Je() = pn—1(x)=

where C is a simple, closed, rectifiable curve enclosing the interval [—1,1] but exclud-
ing the pole ¢ = z.

By deforming the contour C into a circle |{| = R and applying the residue theorem
to the integral in (2.3) then, as R — oo,

x—x1)...(x —xp)

— Pn— = . 2.4
J2(x) = pp—1(x) R Sy — 2.4
Since [1]
(1 —xz)T,;_l(x) = n ; D (Th2(x) = T (x)) n>2,
we shall define
wy(x) =Ty (x) = Th2(x) n>=2. (2.5)
Thus, expression (2.4) leads to
1 1 (1 _ 2\A—4
/ (1 _ x2))‘_%fz(x) dx — I,E)L)(fz) — 1 / (1 X ) ZU)n(x) dx, (26)
-1 wp(z) J-1 zZ—X

where 1,9) (f2) denotes the approximation to / M) (f£.). The theorem now follows from
expressions (2.2), (2.5) and (2.6).

Unfortunately it remains an open question both in the present paper and in [15] as
to whether the above can be extended in some form to more general functions. It is
not difficult however to generalise this theorem to any rational function of the form

m ' k b
r(x) = Zaixl + Z J
i—0 =1

s
X—Zj

where all the poles z; are assumed to be distinct. Indeed, by (1.3) and (2.1) for any
n-point interpolatory rule with n > m

K YNNI
j=1

T,(zj) — Th—2(z;)
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Fig.1 Absolute errors when approximating the integral in Sect. 5 by generalised Clenshaw—Curtis quadra-
ture using various values of n, n even with A = 5/2. Note the logarithmic scale on the vertical axis. At a
certain value of n, indicated by the vertical, dashed line, the convergence rate decreases. The value of n
follows from Eq. (4.3) by using the method described in Sect. 5

In particular, since

a? ai 1 1
212 2 \aiax T »
ac+x 2 \ai+x ai—x

the error curve shown in Fig. 1 can be derived.
Finally, in order to continue we shall require the conformal mapping

z=%(¢+§‘1) ¢=pe? 0= <2m 2.7)

which transforms the circle | ¢ |[= p > 1 onto an ellipse &, with foci at z = £1 and
semi-axes (p + p~1)/2. m]

3 A generalization of Weideman et al.’s formula

Weideman et al. have derived a formula for Qfl)“))

for QE,)"’)(z) p=0,1,2,..., see Theorem 3.2 below. In particular, when p = O the

following result is known [15].

(z) which we shall generalise to one

Theorem 3.1 Assume z € ¢, then

W, () n even,

(20) — N
0,79(@2) =pus "mwi + [ (Wpg1(2) + Wu_1(2)) /22 n odd,
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Convergence properties of a quadrature formula 827

where w is defined by

—11Im(z) > 0,
uw=130 Im(z) =0, 3.1
+1 Im(z) <O,
Wa(¢) =2(¢7" Ho(Q) +¢" Hu(1/2) ), (3.2)

and

ton
H,(t) = o1 zdu), n=2~0,12....

When z is real (i.e. ¢ > 1 or { < —1) the first integral in (3.2) should be interpreted
as a Cauchy Principal Value integral.

In order to simplify the presentation of our proof of Theorem 3.2 it will be helpful
to move some of the more technical manipulations that arise therein, along with brief
summaries of their proofs if required, to Appendices A1-A7. This has the advantage
of allowing one to focus solely upon the theorem itself. We should also point out that
the proof of Theorem 3.2 that we shall give will not be the somewhat shorter proof
using Mathematical Induction but instead we follow a more general approach which
has the advantage of allowing us to choose other values of L. Finally, throughout this
paper we define

ro+pye (=D
B = —7 - K
'(A+1) 22p-1

and [4]

H.r/;ll(f%) ifr =2,

_})1 ifr =1,
Z=9_, o (3.3)

—Zi_, (A ifr <O.

Lemma 3.1 Fornodd, Q4 (z) = 2% ( Qfl}jzl(Z) + Q,(f_)l(z)) .

Proof 1Tt is well-known that [1]
2Ty (x) = Ty1(x) + Tp—1 (). (3.4

If we now substitute (3.4) into (2.2), partialise the integrand and recall that n is
assumed to be odd the result follows. O

Theorem 3.2 Assume z € ¢, and A = Ap, p =0,1,2,... and also let . and
W, (¢) be defined as in Theorem 3.1 then

(=DF

22p

07 (2) =

[A() + B() 1, (3.5
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828 H. V. Smith

where for
(i) n even
A = (c - 1)217 [’Mi + W (;)]
- C é‘” n )
p—1 j .
_ vk 2P s 2p—2j—1
B() —42}0 ;( DECE 8241 (n2 P 1)2) :
with
: 1
8jt1-2k = §2J+1_2k + m,
and
(ii) n odd
1\?* ' 1
AQ) = (c ——) [’“” + —(Wn+1<c>+Wn1(;>)],
e o 2z
and

B()_4P71 d X lkCZp(Zj—Zk 1 2p—-2j )
0= Z % BRCEN +;2f—2k) (n2—<2p—2j)2 ’

j=

where the single prime indicates that the last term k= j is to be halved.
In the case p = 0 the term B(¢) should be omitted from (3.5), the theorem then
reducing to that of Theorem 3.1.
Proof We begin by recalling the following expansion for Qf,k) (z) which depends on
the parity of n. By setting

n = 2s+o, 3.6)

where s is an integer and 0 = 0 or 1 according to whether n is even or odd then [4]
o

0P () = B D "7 Zisio ) + Zis () ], (3.7)
k=1

where z € 65,z ¢ [—1,1]and [¢| > 1.In particular, forn evenand A = A,

n

[e%e] 2 0
(Ap) - - _
W @=B D " TH a0+ D T 2 ) + DD TR 2 ()
k=1 k=1 k=141

=series 1 + series 2 + series 3. 3.8)

Let us now consider each series separately beginning with series 1, followed by series
3 and then finally series 2.
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Convergence properties of a quadrature formula 829

(a) Series 1 From (3.8), A2 and (3.3) it follows that [5]

2p . 2 00 12k
iesl = L -1/ c? 3.9
series ]ZO(( ) € Z o T 2p+2,_1) (3.9)

At this point it will be helpful to express the inner summation in (3.9) as follows.

®Oo0=j=p-—-1,

[ee) Cl_Zk p—J C_(Zk_l)
> =2
k=1n+2k—2p+2j—l 1n—(2p—2j—2k—i—l)
+ " TAPTR H, (1)), (3.10)

where the second term on the right-hand side of (3.10) follows by manipulating
a geometric series and expressing it in terms of an integral. Similarly for

(i) j = p,

00 ¢1-2
—— =" H,(1
w1k 1 ¢ W (1/8),
k=1
and for
(iii) p+1=<j=<2p,
e g1-2 j=p 2k—1
> -3
k_ln+2k 2p+2]—1 = n+2j—2p—-2k+1

+ " g, (1/2).

By substituting (i), (ii) and (iii) into (3.9) and rearranging terms it follows that

. p—1 _ p—j ¢~ @1
—series 1 = Z (—1)J C?F :
L = J = n—Q2p—-2j—-2k+1)
2 2%k~
— 1)/ C
/%1 =D Z:n—i-(2/—2p 2k + 1)
1\%”
+ (§ - E) ¢"Hy(1/2). (3.11)
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(b) Series3 By repeating part (a) but this time using Zk_% (p+1/2) it follows that

2p
series 3 =

1-2k
¢

_ 2p
LZ (l)/C Z n—QRk-=2p+2j—-1)

j=0 k= n+1

which leads to

;- (2k—1)

P=J k-1
¢

+(¢—l)2p iH(l)
—1 ) o

-1
series 3 _np i 20 2j-2p
L =-¢ Z =D Cj 4 sz—l
=0 k=1
2p
DI (Gl 21’2
J=p+l1

(3.12)

(c) Series 2 To obtain a similar expression for Series 2 we first note that from (3.3)

and (3.8) Series 2 may be expressed as

2 2p ¢—Ck=D
S 2 =—1L 1/ C; 3.13
eries go (=D gn—(2k+2p 1) (3.13)
In particular, for
ivy0=<j=p-1,
Zf: ¢ = k=D
P n—QRk+2p—-2j—1)
(202 z§(2kl) li ¢n—@k=1)
e 5+ Ho©) — B ) |.
P 2k — 1 —on— 2k —
(3.14)
(V)] = p,
2 g-—(2k—1)
n— k=D ¢ (Ho(¢) — Ha(2)), (3.15)
=1 "
and

(i) p+1=<j=2p,

)
n—Qk+2p—2j—1)

M)

k=1
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Convergence properties of a quadrature formula 831

j=p i-r -
§2k 1 k=D

2p 2j—n -
— n+2k=1)

+ Ho(¢) — Ha(5)

(3.16)

Substituting (3.14), (3.15) and (3.16) into (3.13) now leads to

Series 2
TS = = (DG T Ho©) — Ha(©)]
i | ey 1o @ik
"2 e | Tl T Xr o PO @

2 (—1)i C2P 120 p2k=l TP ent kD)

-3 S
Trnt2j—2p 2 — —
ol gnrel—ep P 2k — 1 k:1n+(2k 1)

+ Ho($) — Hy(0)] -

(3.17)

As we shall see the desired result, expression (3.5), will now follow by adding
together Series 1, 2 and 3 and simplifying. For clarity of presentation however
we shall begin by simplifying the sum of those terms in (3.11), (3.12) and (3.17)
that contain an integral followed by simplifying the sum of the remaining terms.

(d) Terms that contain an integral.

(c=3) [ (3) = gm0 + & (0 () - m00)
¢ \g) T ¢ 0

1 NN 1 1\2” c+1 1+¢
=5W"‘“(C‘E) zu(“z) [‘“(g 1)‘1“(—1—;)]’

(3.18)

where the terms in square brackets reduce to i when Im(¢) > 0 and to —mi
when Im(¢) < 0. Thus, the right-hand side of expression (3.18) becomes

1(@ - l)21) () + S (; - 1)2p (3.19)
2 ;) " 2 ¢n ¢) '

where p is defined as in (3.1).

(e) The remaining terms. Some of the expressions we shall meet in this section and
elsewhere are somewhat cumbersome and so, where necessary, we shall let

K =2k—1,
apj=p—j (j =01,...,p—1) and
Bpj=J—p. (G =p+1...2p.

@ Springer



832 H. V. Smith

Thus, by A2b the sum of the remaining terms S is given by

p—1 2 Ap.j {'_K 2p X ) Bp.j CK
= CP 2 - P T T >
5= 3 (e ﬂ--zn_K) > (e s

=0 =1 j=p+l i ntkK
p—1 5 Ap,j 2p . Bp.j §K

+ (=17 C p _ (=D c? _ .
Z( Z (2a,,,-—1<> ]§1 j ;H(z/ﬁp,,-—lo

Bearing in mind A2, A3 with ¢ replaced by 1/¢ and A4 the previous line becomes

p—1 @p.j @p.j gVK 2ap
S=2 (( 1)] C21? §_2ap, Z 2 )+Z(( 1)] CZPZ )

j=0
p—1 5 ) p.j §K
—1/ cP 2
-5 3)
j=0 k=1
p—1 J .
2p—2j—1

=2 —DECP 8y . 3.20
Z g( DA PR FER )¢ W= Qp—2j 1) (3.20)

Expression (3.5) now follows by adding (3.19) to (3.20) and multiplying the
result by (—1)7 /2271, O

Proof of Theorem 3.2(ii). Since n is assumed to be odd that is, n &= 1 are both even, it
follows from Lemma 3.1, expression (3.5) and part i) of this theorem that

1\%” ' 1
D72 ") = (,; - E) [“{’Z’ 3z W@+ Wn_l@))} +

2 < 2 2ap 200 ;i —2
= -1 k C p Sriit_ ( p,J + P, )
(3.21)
Letting
j
= > (D' P 82j51-. (3.22)

k=0

the summation part of (3.21) may now be expressed as

AOZP = (ap, ;)
[l S Aji+ Ay —5—L—,
Aoapr M ET o,
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Convergence properties of a quadrature formula 833

that is,

1 1\ j 1
(P22 QPP () = (4 = —) [“ LA 72 Wt (©) + Wn_l(c»]

¢ e
-1
2 A2p K Qap. ;)
+= ==+ > A1 +4)—2LL—
z \ n2—@2p)? ; J 02 — Qap, )2
(3.23)

By comparing (3.23) with (3.5) when #n is odd the desired result will follow if

1
— Ay = 1, (3.24)
2z

and

| j ) - | '
Z—Z(A,_l +A) =D =nhgr (81 2"+§2j—_2k) j=1,...,p—1.
' k=0

(3.25)
Clearly, by (2.7) and (3.22) expression (3.24) follows. Also, from A5 and (3.22)
for j=1,..., p— 1itfollows that

1 ; 1
5o A+ A = D¢ (§2]+ﬁ)

j—1 r—1
. 1
+ Z((—l)’ P+ > (=1 (C,f” - C,f_’;l)) ( IS T )
r=1 k=0 ’

J=1
2 i1 2 2
+ | =D " + 0 (=1 I(Ckp - Ck-,:-l) :
k=0

which, after cancellation of some terms reduces to expression (3.25).
Expression (3.5) now follows by substituting (3.24) and (3.25) into (3.23).

4 Error analysis, n large

Since it is well-known [13] that for z € ¢, withn — oo

{ﬂ

1
Th(z) = §(§"+C_")’V 5 4.1

it follows that the denominator in expression (2.1) is O (p") and so any change in the

(P+3)

rate of convergence of E), (f7) must come from the numerator. For this reason we
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834 H. V. Smith

shall begin by considering the numerator of (2.1). We shall also require the following
lemma.

Lemma 4.1 Forn evenand ¢ ¢ (—oo, —1]U[1, c0)

402+ 1) 1 4@+ 1
Wo(C) = — é(f_ 1)2) 5 - é(f_ 1)4) (¢*+22¢2 +1) = + 0( ) (4.2)

Proof Repeated integration by parts of the integrals in (3.2).
We are now in a position to derive the rate of convergence of the error term

1
E’(lﬁ-i' 2)

(f;) for large n. To this end we shall deduce the following theorem. O
Theorem 4.1 Assume z € ¢, and ¢ ¢ (—oo, —1]U[1, 00) then, as n — oo, for

(a) n even

(p+ )

0 (p+ ) (=P i ( 1)21”+1
i >z B

@ - 0570 = 55 .

(—=1)P*13 1\272 1\ 1 o} 43
+22p—_4 ¢ — z ¢+ ) + 5 (4.3)
(b) n odd the second and third terms on the right-hand side of (4.3) are to be replaced
by

(—=1ptt 1 1
YT (A — Az) + 0 (4.4)
where
p—1 J 5 1
_ / . 3 k ~2p 2p—2-2j
AI—ZO g(l—k‘i‘l) (=" ¢, (fp ]+m),
j= =
and

444024 1\27~2
woS ()

(€2 — 1) ¢

Proof of Theorem 4.1a Since n is assumed to be even then by (3.5) and Lemma 4.1

. 1 2[7+1
(—1)r22” (Q "D - PP )) f,fl (: - E)

J k 2p
(-1 20, ; — 1 20p;— 1 )
+4 E E —
|:(k = 52—j+1 " ) (n2—(2ap,j—1)2 (n—Z)Z’—(Zoz,,,j—l)2

1\*
+ (( - E) ( Wn(;) - anZ(C)) .
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Convergence properties of a quadrature formula 835
;-n—l ; - E
p—1 J o 1\ 202 | 6
. _ Py . _ L 1
* Z(Z“” [ 2 D 621 (Z () (§+;) —~
Jj=0 k=0
- 48 1
+ | 2 (o - Z( D CEP 82j41-2k prii O(H—S). (4.5)
j=0

The result now follows since by A7 the second term on the right-hand side of (4.5)

is zero and the double summation in the third term may be replaced by the right-hand
side of A7.

We shall now derive the following lemmas and then deduce Theorem 4.1b.

~

—

Lemma 4.2 Assuming n to be odd and ¢ ¢ (—oo, —1] U [1, 00) then, as n — 00,

1 1)\2 W W o2 9% @O-psi (1
Z(C—E) (Wn1(8) — n—3(§))—n—3+n—4+mn—5+ (n_6)

Proof Since n is assumed to be odd, that is n + 1 and n — 3 are both even, and

! (4_1)2 _ @’
2 ¢ G

it follows from Lemma 4.1 that

| 2 W w . 1 1
% (C - E) Wnt1(8) = Wy—3(5)) = ((n—3)2 i+ 1)2)
4t +2202+ 0 (1 ! !
GET ((n -3+ 1)4) wo (ﬁ)

3296 (¢°—1) 512 1
=+ -+=—"""10(—),
St It 1w + (nﬁ)

as required. O
Lemma 4.3
p—l J s . 1 1\2r2
(p—iD.) =D er (421—2"+ 2,._Zk) = (;——) p=L
j=0 k=0 ¢ ¢
(4.6)
O

Proof (1) By mathematical induction it is easy to deduce that

r—1

S e -bc = )TN 2pzrl
k=0
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836 H. V. Smith

(i1) If the terms on the left-hand side of (4.6) are now rearranged it follows that

p—1

J ' |
Z‘ (p— j)g’ -k c” (;21‘2" + ;zz—zk)
4 i—1 ‘ 1
> (R erta-ndr) (¢ a)

i=1

1 2p—2
(5 - E) (by part(i)).

~

Remark 4.1 By rearranging terms

p—1 J 5 ' 1
0

Jj=0 k=
—1 i
< [ ko 3 ~2p 2p—2-2j 1
=> [ D =rG—k+ 1P ¢ ¢ +m .
j=0 k=0

Remark 4.2 Asn — oo

1 1 4 12 3R20p-HF+1]

n—4p—j)F -22—4p-jF a3 nt n’
1
ol—).
0 (5)

Proof of Theorem 4.1b. Since n is now assumed to be odd it follows from Theorem
3.2(ii) that

il 1 . 1 2p+1
(—1>"221’( i’“)(z)—Qi’i?)<z>)= ik (;—f)

gn1 ¢
p—1
+4>° {

J
1o vk 20 [ 22k 1 2ap, _ 2ap, )
P 2.t (C " §21’2k) (n2 = Qap)? (=22 = Qap,))?

k=0

1 1\%”
+ 7 (C - 7) ( Wn+1(§) - an3(c)) .
Z ¢

After rearranging terms it follows from Remarks 4.1, 4.2 and Lemma 4.2 that

. 2p+1
(—1yr2?r (Qi”*%) (@) - Qi,”ff)(z)) = —% (; - %)

5 . 2p—2
. , 2 i 1 1\ Ry
(S g e e o)) (1)) (o 5)
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Convergence properties of a quadrature formula 837
p—1 J ) ) 1 1
—1256 3" (= p (=i +1) X DG (;21‘” - {zj_z,c) ~
j=0 k=0

512(:6— 1) 1\?P72 1 1
MNTEETE (C_E) 175+0<n7’)'

By Lemma 4.3 the second term on the right-hand side is zero and, by Lemma 4.3 and
Remark 1 the third term may be rewritten to give

. 1 2p+1
(—1)P22P (fo’* ‘@ - 0" )) fn’f’l (c - E)

((; —1)3 205 - 1)) N\>*72]1 1
aso] o CSUAE ()L (1)

i 1\2P*! 1 1
= (g - E) = 256 (A1 = M) — + +0 (n6)

as required.

As described in [15], for || near 1 with n even and initially less than some critical
value the first term on the right-hand side of (4.3) may dominate whereas for n greater
than this critical value the second term dominates. A similar comment refers to when
n is odd by taking account of (4.4).

Finally, Theorems 2.1 and 4.1 together with expression (4.1) lead to the following
result where C,(,)‘) (f,) denotes the n-point generalised Clenshaw—Curtis approximation
to I*) (f2)-

Theorem 4.2 For ¢ ¢ (—oo, —1] U [1, 00) and assuming

(a) n to be even then the n — 00 behaviour of the generalised Clenshaw—Curtis
quadrature error is given by

crD ) ~ (=DPH3@ = D*PC+ )
z 22p—=>5 {"—1114

17+ (f) —

’

whereas for n less than the critical value

—1rtl : 1 2p
17D (1) — P (p) ~ (2211)1—4_;“’2‘( _E) .

(b) n to be odd then the n — 00 behaviour of the generalised Clenshaw—Curtis
quadrature error is given by

P )~ (=P

I(P+ )
(f2) — (f2) 22p—9§n—1 (é' — %)

1
n
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838 H. V. Smith

whereas for n less than the critical value

+1,, 2p
1P £y — ¢ (p+h) (=DF MTU( 1) '

(f2) ~ 22p—1€-2n—2 o E

5 The approximate location of the critical value

In any numerical example the approximate value of n at which the location of the
critical value occurs is characterised by the fact that for n even the modulus of the first
term on the right-hand side of (4.3) is equal to the modulus of the second term. (For
n odd the equivalent terms from Theorem 4.1b should be chosen).

To illustrate this point let us consider the following integral

/ A —=xdH*> 2)**

14 16x2 + 16x2
In the case of Clenshaw—Curtis quadrature, that is for A = %, it was shown in [15]
that for n even and

1+ /17
= —l’
4

the critical value is located at approximately n = 54.

If we now assume p = 2 for example, thatis A = %, and again using the same
value for ¢ then by equating the modulus of the first term on the right-hand side of
(4.3) to the modulus of the second term we see that the critical value now occurs at
approximately n = 70, see Fig. 1.

6 Integer values of A

Little is known concerning the behaviour of the error term for integer values of A. Only
in the case of Lobatto-Chebyshev quadrature , for which A = 0, can it be inferred
that the error term does not decay to zero in two distinct stages since the rule is then
known to be of Gaussian type. Indeed, when . = 0, it follows from (3.3) that

so-[!, 12
By taking account of (3.6) and (6.1) expression (3.7) leads to

0@ =m¢ (- Hh
from which it follows

09z - 090 = —{f_l. 6.2)
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If we now recall the comments made in Sect. 5 concerning Theorem 4.1 then by (6.2)
the error in Lobatto-Chebyshev quadrature does not decay to zero in two distinct stages
but does so as follows.

Theorem 6.1 The n — o0 behaviour of the Lobatto-Chebyshev quadrature error
is given by

-2

©) _cO ~—_
190 = 62U~ ey

Proof The result follows from expressions (4.1), (6.2) and (2.1) withA = 0.
Finally we prove the following theorem. O

Theorem 6.2 If L is a fixed, positive integer and
n—+ o > 2x+1,
then the n — o0 behaviour of the quadrature error is given by

(_1))&04‘17[ (é- _ é-—l)Z)L()—l
22)»0—1;—211—2

199(f) — CPO(f) ~

Proof In [4, Theorem3.2] it was shown that

(=DM (g —¢7HP
22)\.()44171 ?

A
0 — o) =

from which the result follows. O
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Appendices

(A1) For any integer p =0, 1,2, ...
(a) By inspection

BI1;Zy(1 —2p +20) _

220 2p)!
(b) From (3.3) for r > 2
2p 2p
2p+1 1
z Tl —2p+2i
( 2 ) g( P+ l)g2r—2p+2j—l
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2p 2p i ~2p

1 (=D’ C;

=—|la-2p+2i J ) 7.1
22 (2p)!i=0( p+20) j§)Zr—2p+2j—1 .1)

Bearing in mind part (a) we see that from (7.1)

2p 1\ 2P
2p+1 (=D’ C;
BZ’(pz ):LZZr—2p~I—2]j—1'
=0

(A2)

(a) If we reverse the order of the inner summation followed by the order of the outer
summation in the following we see that

2p j=p 2k—1
>o(every -t
et J par n+Q2j—2p—2k+1)

o J g2i+1=2k
_NP—i c?P R
=1 ”‘/;n+(2k—1)

Il
-M"

1

J

—

p—

p—J g 2p=2j-2k+1
(7.2)
1 n

—_1ic?P R,
- (=D7C; Z +Q2k—1)
j=0 k=

(b) By substituting n = 0 into (7.2), rearranging the terms on the left-hand side and
finally substituting 1/¢ for ¢ into the resulting expression it follows that

2p oy o j—p 21
Z (=1’ ij§7 v Z 2% —1
j=p+1 k=1
-1 —j B
P pP—J g_2[{ 1

— _1y C2P 2=
Z =D7cj7e ];2/(—1

Jj=

(A3)

) (—1)] 2P (2r=2 [i (2k — g~
J 2 _ —_1)2
pr STk - 1)
P

-1

J
2 i—(2k—
— E (_1)]( Ckp 4-2] 2k—1)
j=0 k=0

2p—2j—1

n?—Q2p—2j—1)72 (73)

Proof The right-hand side of (7.3) follows by rewriting the left-hand side, which is a

2p—2r

summation in terms of C,2 P ¢ , as a summation in terms of 2p —2r — 1)/ n?—

Qp—2r—1?.
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(A4)
p—1 = —(2k—1)
(-1 ¢ :
= J k=1n—(2p—2j—2k+1)
¢ 2i=2p+2k=1

2
—Z (— 1)JC”Z T

Jj=

O
Proof The inner summation on the left-hand side is of the form
M; ¢~ k=D
)3 (7.4)
= n- M; — 2k —1))’
and on the right-hand side of the form
M; ¢~ @Mj—@k=1)
T or— D (7.5)
= n—Ck=1D

where M; = p— j.Forjfixed (7.4) and (7.5) are equivalent, hence the result follows.
m}

(AS) Assume z € ¢, then
r—1 1
2Z( 2 = ( 4 20— 5)) + (=1 ) =ty e (7.6)
s=0

Proof Since 2z = ¢ 4 1/¢ (7.6) follows immediately.

j
A6) > (2 — 2%k + D(=DC)’ = (— 1)J( - oy 2) 2p—2>].
k=0

Proof Using mathematical induction it is easy to deduce that
r
DD = G 2pEr (7.7)

and by the factorial definition of C}, that

1 2p-2

iyl —20 = 2p=r 43 (7.8)

If we now bear in mind (7.7) and (7.8) then, once again, by using mathematical
induction the result follows. O
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(A7)
p—1 J 5
D @p—1-2j) D (=D* 82112
j=0 k=0

1\ 1
—(c-- +2) p=1.2 ...
(C c) (§ ¢)p

Proof By rearranging the terms on the left-hand side and bearing in mind A6 the
right-hand side follows. O
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